
 
Latest Revision: 10/25/2022 

For questions or help with the installation, please call SDHQ Offroad @ 480-633-2929  
Mon.–Fri. 8:00am–5:30pm and Sat. 8:00am–3:30pm Arizona Time. www.sdhqoffroad.com  

Page 1 of 9 

 
 

Product Packing List 
Product:    SDHQ-00-1304-U1 
Description:  SDHQ Built Multi-Platform Billet ABS 
Guards 
 
  (2) ABS Guard            SDHQ-00-1304-U1-A  
  (1) Hardware Package          SDHQ-00-1304—U1-HP  
   (2) M6 – 1.0 x 20mm Socket Head Bolts  
   (2) M8 – 1.25 x 20mm Socket Head Bolts   
   (2) ¼” Washers (1/2” OD)  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Packaged and Shipped By:        Date:     



 

 

 
Mon.–Fri. 8:00am–5:30pm and Sat. 8:00am–3:30pm Arizona Time. www.sdhqoffroad.com  

Page 2 of 9 

 

 
Vehicle Fitment Chart  

 
Vehicle  Front Fitment Rear Fitment M6 Bolt M8 Bolt 

2021+ Ford Bronco X X X   

2011+ Ford Super Duty   X X   

2009+ Ford F-150   X   X 

2010+ Ford Raptor   X   X 

2019+ Ford Ranger    X X   

2022+ Toyota Tundra X   X   

2020+ Chevy/GMC 2500    X X   

2014-18 Chevy/GMC 1500   X X   

2019+ Chevy/GMC 1500 X X X   

2020+ Jeep Gladiator Dana 44   X X   

2018+ Jeep Wrangler Dana 44   X X   

2019+ Ram 2500/3500 SRW   X X   

2019+ Ram 3500 DRW   X X   

2021+ Ram TRX   X   X 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 



 

 

 
Mon.–Fri. 8:00am–5:30pm and Sat. 8:00am–3:30pm Arizona Time. www.sdhqoffroad.com  

Page 3 of 9 

INSTALLATION INSTRUCTIONS 
Product:    SDHQ-00-1304-U1 
Description:  SDHQ Built Multi-Platform Billet ABS 
Guards 
 

     

Tech Notes 
 These guards help protect your vulnerable factory ABS sensors from rocks and debris.  

Your factory hardware will be replaced with upgraded stainless bolts.  
ABS guards are NOT side specific.  

*Do NOT over torque the bolts. They only require 6 ft-lbs of torque.* 

 

***READ ALL INSTRUCTIONS THOROUGHLY FROM START TO FINISH BEFORE BEGINNING INSTALLATION! *** 

Parts List Hardware List Required Tools 
(2) ABS Guards 
SDHQ-00-1304-U1-A 
(1) Hardware Package 
SDHQ-00-1304-U1-HP 
 

(2) M8 - 1.25 X 20mm Socket Head Bolts 
(2) M6 - 1.0 X 20mm Socket Head Bolts 
(2) ¼” Washers (1/2” OD) 

13mm socket / wrench 
10mm socket / wrench 
8mm socket / wrench 

5mm Allen wrench 
6mm Allen wrench 

 



 

 

 
Mon.–Fri. 8:00am–5:30pm and Sat. 8:00am–3:30pm Arizona Time. www.sdhqoffroad.com  

Page 4 of 9 

Installation Instructions:  
 

Locate your abs sensor on either the passenger or driver side. Remove the factory bolt holding 
the sensor down. Place the ABS guard over the sensor and replace the factory bolt with either the 
supplied ¼” washer and M6 bolt or M8 bolt according to the fitment chart above. Adjust ABS guard 
rotation as needed and tighten. Repeat for opposite side.  

 

2021+ Ford Bronco – Front 

     
 
Rear 

          
 

2011+ Ford Super Duty – Rear  

      



 

 

 
Mon.–Fri. 8:00am–5:30pm and Sat. 8:00am–3:30pm Arizona Time. www.sdhqoffroad.com  

Page 5 of 9 

 
2020+ GMC 2500HD- Rear  

        
 
2022+ Toyota Tundra- Front 

          
 
2019+ Chevy 1500 Front 

    



 

 

 
Mon.–Fri. 8:00am–5:30pm and Sat. 8:00am–3:30pm Arizona Time. www.sdhqoffroad.com  

Page 6 of 9 

2019+ Chevy 1500 Rear 

   
 
2014-18 Chevy 1500- Rear  

    
 
2020+ Jeep Gladiator Dana 44 Axle- Rear 

    



 

 

 
Mon.–Fri. 8:00am–5:30pm and Sat. 8:00am–3:30pm Arizona Time. www.sdhqoffroad.com  

Page 7 of 9 

2018+ Jeep Wrangler Dana 44 Axle- Rear  

      
 
2019+ Ram 2500/2500 SRW- Rear  

     
 
2019+ Ram 3500 DRW- Rear  

     
 

 



 

 

 
Mon.–Fri. 8:00am–5:30pm and Sat. 8:00am–3:30pm Arizona Time. www.sdhqoffroad.com  

Page 8 of 9 

2010+ Ford Raptor- Rear      

              
 

2009+ Ford Raptor- Rear 

    
 

        2021+ Ram TRX- Rear    

     
 
 



 

 

 
Mon.–Fri. 8:00am–5:30pm and Sat. 8:00am–3:30pm Arizona Time. www.sdhqoffroad.com  

Page 9 of 9 

 
 

***Double check all hardware is installed correctly and tight*** 
 

***Re-torque ALL bolts after 100 miles*** 
 
 
 

 
 
 
 

 
190 S McQueen Rd 

Ste 109 Gilbert, AZ 85233 
www.sdhqoffroad.com 

 
 
 

Follow us on: 
 

 Facebook   Instagram 
 

http://www.sdhqoffroad.com/

